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1. Let f(x)=cosx. Find the tangentlineto y= f(x) at (g ,0).
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2. Let F:(X 21) b 81) =1. Find the line tangentto T' at (B 1+2/2).

3. Let f(x)=x>-7x+5 and P(x,, f(x,)) be a point. If the slope of the
tangentlineto y=f(x) at P is 5, find x,.

4. Suppose that there exists two tangent lines to f(x)=x*—5x+7 passing
through P .Ifthe slopesofthese twotangentlinesare 1 and —1,find P.

5. Suppose the tangent line to f(x)=x°+x*+cx+d at x=1is y=x+1.
Find c+d.

6. Find all intersections of f(x)=x®—3x+1 and its tangent line at (1,—1).

7. If the tangent line to f(x)=x’+ax’+bx+1 at (1,5) has the smallest
slope among all tangent lines, find a and b.

8. Find all tangent linesto f(X) =x*—x+1 passing through (2,2).

9. Find the tangent line to the Folium of Descartes x°+y° = % xy at (2,1).
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10. Find the tangent line to the Astroid x®+y® =2 at (1L1).
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